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PART-A

Answer all TEN questions





 
   3 x10 = 30
1. Difference between circuit switching and packet switching.

2. What is the purpose of the sequence number in a TCP packet?

3. Define the terms broadcasting, unicasting and multicasting.

4. Differentiate between static and dynamic routing?

5. What are the drawbacks in bus topology?

6. What is the relationship between the size of the CRC remainder and the divisor?

7. What is the principle difference between connection oriented and connectionless communication?

8. What is meant by reliable transmission?

9. What is IEEE project?

10. Define dialog control.

PART-B

Answer any FIVE questions





      8 x5 = 40          
11. Explain the salient features of SMTP.

12. Enumerate in detail about the checksum and Cyclic Redundancy check algorithm with an example.

13. Explain in detail about the Ethernet-802.3 with its access protocol and addressing mechanism.

14. Explain CSMA standards in detail.

15. Explain about framing methods.
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16. Explain about sliding window ARQ Protocol.

17. Explain about  switching techniques

PART-C

Answer any THREE questions





    10 x3 = 30

18. What is collision? How does CSMA/CD detect and handle collisions.

19. Discuss network topologies in detail with their performance indicator. Also draw and     show the hybrid topology with star as back bone and four ring network.

20. Elaborate in detail about the leaky bucket algorithm with their merits.

21. Explain about hamming code generation.

22. Compare OSI reference layer with TCP/IP.
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